The Chief Features of the Industrial Revolution


ACTIVITIES











(par. 1) The Industrial Revolution: the substitution of competition for the mediaeval regulations. It led to growth of two systems of thought: 


1) Economic science 2) Socialism


a) Adam Smith


b) Milthus


c)Ricardo


d) John Stuart Mill 





• (par. 2-3) Facts of Industrial Revolution. 


1)Growth of population


2)Decline of agricultural population





• (par. 4) Decrease in rural population. Causes: 


1)the destruction of the common-field system of cultivation


2)the enclosures


3) the substitution of large for small farms.





• (par. 5) Agricultural advance. Cause — more scientific approach: 


e.g. 


The improvement of breeding cattle


The rotation of crops


The invention of the steam-plough


Agricultural societies 





• (par. 6-7) Growth of industry. causes; 


1) mechanical inventions in textile industry 


e.g.


The spinning-jenny


The water-frame


Crompton's mule


The self-acting mule


The power-loom


most important: 


steam engine 





2) mechanical revolution in iron industry


 e.g. 


Smelting by pit- coal


The application of the steam-engine to blast furnaces





3) improved means of communication


 e.g.


Canal system


roads


railroad





results: 1) alternation between periods of over-production and of depression.


            2) substitution of factory system for domestic system.





• (par. 8) Revolution in distribution of wealth: rise in rents caused by


1)Investments in improvements


2)Enclosures


3)Substitution of large for small farms.


4) high price of corn 


social changes in country life:


Farmers became a distinct class


Labourer had lower wages, higher prices and no more common-rights.


=> Alienation between farmer and labourer





• (par. 9) Social changes in manufacturing world:


The wealth of the new class of great capitalists increased ever more, while workers are ever more paid less, with less dignity, due to the fact that now special skills are not ever more required, because machines did the most of the work.





Consequences: 


The old relation between master and worker disappeared


Workers had ever less importance


Class conflict





• (par. 10) Misery of working people often caused by: 


1)Lower wages


2)Bad conditions of labour


3)The rise of prices


4)Alternance of between periods of over-production and of depression.








Conclusion: 





The free competitivity of the Industrial Revolution produced wealth not equally distribuited: it favors some formerly richer classes to the detriment of labourers and workers.


